
Example �. To graduate from Simplexville University, Angie needs to pass at least one of the three courses she is
taking this semester: literature, �nance, and statistics. Angie’s busy schedule of extracurricular activities allows her to
spend only � hours per week on studying. Angie’s probability of passing each course depends on the number of hours
she spends studying for the course:
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Angie wants to maximize the probability that she passes at least one of these three courses. Formulate this problem as
a dynamic program by giving its shortest/longest path representation.

Hint. Why is maximizing the probability of passing at least one course equivalent to minimizing the probability of
failing all three courses?

� Lesson �. Dynamic programming, cont.
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